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GYOKVONAS - 10. osztaly
GYAKORLO PELDAK

1. Végezd el az alabbi miiveleteket!

(V18 x2) =
(V75 xV3) =
(V5 xV125) =
(V45 x+/5) =
5
==
75
==
5 _
==

2. Végezd el az alabbi miiveleteket!
(V5 +x) x (V5 —x) =

(Ve+y)x (Ve-y) =
(V3+vV4)x (V3 -V4) =

(V7 +4)x (V7 —-4) =

(V2—x)x (V2+x) =

(x+\/Z)x(\/Z—x)=



(V10 — V4) x (V4 +V10) =
3. Melyik a nagyobb?
V5 x V10 vagy V15 x V3 ?
V2 x V10 vagy V3 x V5 ?
V2 x V7 vagy V4 x V10 ?
V3 x V20 vagy V2 x V5 ?
V7 x V6 vagy V2 x V21 ?

4. Melyik a nagyobb?
5 x V3 vagy 6 x V2 ?
10Xx/§vagy9><\/€?
6xx/§vagy7><\/§?
3><\/ﬁvagy2><\/ﬁ?

8 x V7 vagy 15 X V2 ?
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5. Végezd el az alabbi miiveleteket!

V72 —V32-+8=
V48 — 27 + V75 =
V8 + V64 — V16 =
V18 + V50 — V98 =
V12 + V108 — V147 =
V125 — V45 — /20 =



